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Section 1 - Paperl-English Language
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1) What is the plural form of Index?

A) Indxss
B) Indexss
C) Indices
D) Indexs

2) Find the most appropriate opposite meaning word:
STARTLED

A) Endless

)

B) Amused
C) Astonished
D) Relaxed

3) Select the correct form of verb from the given options.
How many students in your class from
Sikkim?

A) is

B) are
C) has
D) was

Read the passage and answer the questions that follow:

There is an obvious difference in the way battles have
been fought throughout time. Early battles were probably
fought between rival hunting bands as disorganized mobs.
However, during the Battle of Megiddo, the first reliably
documented battle in the fifteenth century BC, actual
discipline was instilled in both atmies. However, during the
many wars of the Roman Empire, barbarians continued
using mob tactics.As the Age of Enlightenment dawned,
armies began to fight in highly disciplined lines. Each
would follow the orders from their officers and fight as a
single unit instead of individuals. Each army was
successively divided into regiments, battalions,
companies, and platoons. These armies would march, line
up, and fire in divisions.Native Americans, on the other
hand, did not fight in lines, utilizing instead guerrilla
tactics. American colonists and European forces
continued using disciplined lines, continuing into the
American Civil War A new style, during World War |,
known as trench warfare, developed nearly half a century
later. This also led to radio for communication between
battalions. Chemical warfare also emerged with the use of
poisonous gas during World War 1.By World War I, the
use of the smaller divisions, platoons and companies

became much more important as precise operations
became vital. Instead of the locked trench warfare of
World War |, during World War Il, a dynamic network of
battles developed where small groups encountered other
platoons. As a result, elite squads became much more
recognized and distinguishable.Manoeuvre warfare also
developed with an astonishing pace with the advent of the
tank, replacing the archaic cannons of the Enlightenment
Age. Artillery has since gradually replaced the use of
frontal troops. Modern bafttles now continue to resemble
those of World War Il, though prominent innovations have
been added. Indirect combat through the use of aircraft
and missiles now constitutes a large portion of wars in
place of battles, where battles are now mostly reserved
for capturing cities.

4) Which of the following new styles were used during
World War |?

A) Dynamic network of battles

B) Radio for communication between battalions
C) Mob tactics

D) Guerrilla tactics

5) Armies started fighting in highly disciplined lines from
the

A) World War |l

B) American Civil War
C) Age of Enlightenment
D) World War |

6) Guerrilla tactics was used by which of the following
groups?

A) Romans

B) European forces
C) American colonists
D) Native Americans

7) Which among the following did Manoeuvre warfare

=" Techofworld.In

A) Missiles
B) Artillery

C) Tank

D) Cannons
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8) Which of the following was recognized and
distinguishable during World War 11?

A) Locked trench Warfare
B) Mob tactics
C) Poisonous gas

meresuass | @CHofworld.In

9) Select the correct option.
The Rime of ancient mariner.

A) an
B) no article
C) the

) a

O

10) Find the most appropriate opposite meaning word:
EVASIVE

A) Dissembling
B) Intangible
C) Deceptive
D) Forthright

JoinUs-' > f
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Section 2 - Paperl-Education and General Awareness
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11) UNESCO facilitates the development of evidence
based policies in response to new ftrends and
developments in higher education so as to achieve

A) Millennium Development Goals

B) Minimum Level of Learning

C) Common Minimum Programme

D) Minimum Education Programme

11) Geasal QIR JIR 2509 JA6R G2 668 8 TR
gegaiea gaig 21Ite andgeae gl @S |

A) aggiel I8 Ry

B) daiq aadq) aa

C) aiiigg Qadq) @Idiga
D) a@&¢) dal @idige

12) The report of committee under the chairmanship of
Janardan Reddy in 1992, provided a base for emergence
of which of the following programmes?

A) National System of Education

B) Minimum Education Programme
C) Programme for Science Education
D) Revised Programme of Action

12) 1992 6Q SRIGE 6a8Ie 2UFGEa &4 gl /FF asale
FEFIQ 699 6AINTI QRN AR NP RIS CAITIR 6QRYRI?

A) QRN TV AT IGERAR
B) ficeq ugeaas 6919

C) 6gigicl a ARG 1gERAR
D) Geie9e 6gigIa 2 aIge

13) Which of the following options is one of the purposes
of Ram Murti Review Committee?

A) Developing programme for vocational education
B) Making primary education accessible

C) Making the Operation Black Board Scheme of 1986
policy more successful

D) Suggesting measure for mid-day meal scheme

13) FAAUQ 62QT AN AF ANV KT 6T QEREN YRI?

A) 2RI0% 81 AR FIdIg FRI6 @RQ|

B) glefie dgig 9o @ds

C) 21060Q% 1986 qIQ 6916 ¢ Q 2@ ATE QA
D) q1iiq 6RISe 69I9RI dil FAIAR JSIS

14) Read the following statements with regards to the
Legislative powers of the President of India and choose
the CORRECT option.

(i)The President has the power to convene and prorogue
to dissolve Lok Sabha.

(i) The President nominates three members to the Lok
Sabha from the Anglo-Indian Community.

A) (i) is TRUE and (ii) is TRUE
B) (i) is FALSE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ji) is FALSE

14) QI9ER AFAGE IIFe 93 Gad6q GIJ6a FaIAIRS
QRYER U097 6 A0 9T 998 @9 |

(i) 6019961 985 969! QI e @69l AR 900 @GR 93
UL 2

(il) QEAT 26E-AE2IF AN ERINANG GF A8 AT
F6RI10 KRIG6S |

A) (i) O @ (i) O
B) (i) @m @ (ii) 0@
C) () gR G (ii)gm
D) (i) 5@ 6 (ihga

Techofworld.In
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15) Which of the following is an antibiotic?

swen —Techofworld.In

B) Amoxicillin
C) Cetirizine
D) Acetaminophen

15) BEOIQ 6266 9@ EUCHER

A) QTR

o

C

)

) 2I619ARE
) 6ATARR

)

=)

JGIACRIETR
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Section 3 - Paperl-Reasoning

16) 10 oranges cost as much as 5 mangoes. By what
percentage the cost of a mango is more than that of an
orange?

asn | @echofworld.In

)
B) 100%
C) 25%
D) 200%

16) 108 @191 QIF16Q 56 2lIF) 21IF2N | 91626/ 635 2R 0Q
691G @AR @Q0IQ 660 JGEIT 2RIS?

A) 50%
B) 100%
C) 25%

D) 200%

17) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the gquestion can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
What is the area of the square?
Statement | : Length of the side of the square is 10 units.

Statement Il : A rectangle of similar area has a perimeter
of 16 units.

A) 2
B) 3
C) 4
D) 1

17) F6R9I9R1: FIRYe 9gsa
1596 @09 OF 6097 (1894 | AIZINYEA U099 ARQ G2ARAIQE
|

2 599 @Qg, 9T 6297 (129 || AL6QIGEa J4a aaa G2IKIR
AIQE |

3, 09 QEa | 99° || QE6AIF6R J4a 2a1a S2ILIR QIQE |

4, 98 949 909 6869 & GuIKR 9GS QI |

QUIRIR 6BLR CASTR 6260 ?
A2 | : QEIRNIQ 68SR 69T A Ae 10 5T |

8R4 Il - QRIG 2PORa AINER 6208 ARQ 16 gA4] |

cowz
= M ow N

18) In a certain code language LIVE is written as 129225.
How is PAUSE written in that code language?

A) 16121295
B) 16111195
C) 16111295
D) 16121195

18) 4@ FR8Q QEFER QITIER LIVE § 129225 6Qf@
EANIKIRE | 648 AEER QUITISQ PAUSE @ @a& 6ndiida 2

A) 16121295
B dett10s Techofworld.In
D) 16121195
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19) Instruction: Below mentioned are statements followed 20) Instruction: Below mentioned are statements

by some conclusions. You have to take the given followed by some conclusions. You have to take the
statements to be true even if they seem to be at variance given statements to be true even if they seem to be at
from the commonly known facts. Read all the conclusions variance from the commonly known facts. Read all the
and then decide which of the given conclusions logically conclusions and then decide which of the given
follows from the given statements disregarding commonly conclusions logically follows from the given statements

saemens. ] @chofworld.In Statements

Some pomeranians are bull dogs. All the arteries are organs.
Some bones are arteries

disregarding commonly known facts.

Some bull dogs are labradors.

. Conclusions:
No labrador is doberman. 1) All the arteries are bones.
CafalisiohE: Il) Some bones are organs.
I) No doberman is bull dog. A) Both | and Il follow

II) No labrador is pomeranian. C) Only Il follows

)
B) Only | follows
)
I11) Some bull dogs are pomeranians. D)

None follow

A) Only Ill follows

B) Only | follows 20) F6R9IQR1: 6% PRSI AN U8F 78 FE FAUAIRE |
C) Only I and Il follows 208 GULIRLR! F8Yg AGY 69IR FIFAIg 9Ge QT8 G ¥l
D) Only | and Il follows ARINEER BEIYR FAI0IR BR 6aFININAN | A0S Fady Teg

e I6a §9R Fug, QuINRgQl Fad Aug 6968 ARIGEER
4IRS Q2306 2QFINF K2R F18RYg OF NS 29U 298
19) F6RAIART G6R G2IAIGYS ASSY I8q @8 F2d FUIASE | [
2INEg AR F1BQUG Y QIR FIFAIG U6 LQQ T 1| F18QY: 49 UAN gOR IR 2°G | B Q1P 62RE UAQT |
QARIFGER FEIZY FA0IR &R 62NN | AT Fadyg 9eg

9Q° G069 AR Gag, FaKegel Fad AUQ 6REE| 2RIGEER e

4121 9AR ARFIFF KRS A84g OF QIES AQANE Q9E | 1) 9g 4R 9B 216 |

A8y @8 6UkARNIGAY 62a8E QM @9 | @8 qm 99

62088 AR | 6FET NIGIEQ , CRIGARHIR FE& | ) @8 21 6298 9918Q 2°d |

fad:

A) Q99 | 9e° || 29904 @9F
) 6T 6QIRRFIR, 7 B6| 6L | B) 6eaq | 21908 @9
) 65163 AISIPR , 6AIAGHAR gi4 | C) eaqq Il agaes @ag

D) 6516d @0g QIF

Techofworld.In

Il @8 9 @6 62283 62I6ARITA] |

A) 6297 Il 29924 K9 |

B) @97 1 25904 @02 |

C) 622 1 49e° Il 23904 99g |
D) e@aq | 9e° Il 29206 @ag |

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 4 - Paperl-Teaching Aptitude
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21) Which of the following methods is Student-Centered
and has a Low-Tech approach towards learning?

23) QIERRIGTIRE AgUIL] 4910 AAY @6l 6291 AR

A) § 5 399° 3 a
A) Differentiation Instruction Method ) 81 SS1RHGR CARAIR 13° 33 AISAHA §A SA0R
B) Flipped Classroom Model B) Gaq @4l 89l 84 A126R 609 HAIGI AEE oI9l QI
)
)

C) Direct Instruction Method C) 210 Z1@eya @l 219 Q631
D) Kinesthetic Learning Model

D) qy@ Teoag oie Qf6adly Foad QA9 99 Ge9
QASRIGEY 98 K891 Ge6a and KaSl
21) GIRGS FRIQ 609 Gy 818 FIRT IR 6940 26T B A
g6 @7 6oate 9@ 98emId 2657 ; :
24) For teaching in an inclusive classroom, a teacher

_ L needs to possess competencies that help her/him to plan

A) Q60 Gewel G and implement strategies that provide students wider

B) & access Ato regular curriculum. Which of the following
) G0 RGA F6eR options is one such competency?

C) gega Gead Gy

D) qlasaasada d8I Aeen A) Be able to informally assess the skills a student needs

B) Adopt teaching practices that will benefit the needs of

majority students
22) Effective learning, good teacher-pupil relationships,

: ) - C) Ignore the diversity in the class and focus on
and peer collaboration can be obtained in a completing the syllabus on time

D) Identify students who need special attention and put
A) Controlling classroom environment ) fy P P

them in a separate class
B) Experienced teaching system

C) Experienced management system

D) Controlled classroom environment 24) NQ AFFG 68619260 IV Ale, 968 T TSI Q!

- - 3 2GR Q1L GIF QEMESgEaa AIRR A6l B Mg G
22 aerqolol fsidi, eal 5;1)9"5‘% ) N el QALIN @@ QI FUdicieg FAFS QI0IGAER 2@ T4 QI6S
el AR R QUNIR KAEIN | FFRIQ 6a9G 69F0R 1 SASI?

A) G934 6289 6949192 QIGISAER
B) 21geQ! d8IQ1e Q4egl
C) 2gee 989IRe! Qyael

A) 366 FNIG 2IQANR QI VLIYERR ACHAIFR RIER
RIS KEQIg AV 629 |

B) 2jqrd SRS ZIREYRSI] AR 69Rgel FAIRIe

D) 8030 6g€1g@ QeIRa8ea ZyIAgee 9ad aaa! |

C) 6gai6a QuSIY QA8 @8 ARG AAIER QIoIRR Ad
23) According to Pragmatists, what should be the aim of Q591 AU6Q IR 62 |
education?

D) G699 e Qe @QaQl JuAIeg §99 @69l G
A) Education becomes stereotyped and education takes 671G 2 9@ 669162 QI |
the form of indoctrination

B) Self-realisation or unfolding of what is potential within

the child TeChOfWO rld - I n

C) Self-expression or self-gratification

D) Enabling the individual to control his environment and
fulfil his possibilities
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25) The theory of cognitive devlopment is associated with

A) Maria Montessori
B) Kohlberg

ownreet Tachofworld.In

25) 6RRIER SRR IRIRE QI9l AGC 660 26T ?

A) QIR F18948
B) saineql

C) @q deag

D) 21l 6ge

26) Which of the following agencies of education is natural

and incidental where there are no predetermined aims,
curricula, methods, and teachers?

A) College education
B) Informal education
C) Formal education
D) School education

26) S8R G691 AQUIRYRR FUIQ 6295 gL 1e° NS
6000160 6@16d 9e FFIRG AAY, TI0YFE IQ° A8 e JIR
QILIE?

A) CeRuea d9l
B) z6qlacioe dsl
C) @aoita a8

D) Qauirg 44

27) Learning Pyramid depicts different retention rates for
various teaching methodologies. Which of the following
options is the CORRECT sequence of the retention rates
in the ascending order?

A) Lecture, Reading, Audio-visual, Demonstration,
Group Discussion, Practice by doing, Teaching others
B) Reading, Lecture, Group Discussion, Audio visual,
Practice by doing, Teaching others, Demonstration
C) Lecture, Reading, Audio-visual, Group Discussion,
Demonstration, Practice by doing, Teaching others
D) Reading, Lecture, Audio-visual, Group Discussion,
Practice by doing, Teaching others, Demonstration

27) &m1 dafie 882 491 aRtqEe AR 6966 28 Yel ARSI

2N SI2I ION | AIRR I FAER 77 IRFYER FUQ 699F U
QAYQl TR A0 9617

A) eaRee, deel, 286-Agam, 9, ga-6deds, @n ad
ZQNIQ @RQI, ARYAIGT SRSl

B) a@el, snqeq, ga-8aadq, 2@6-Ugan, QK @8 Zaud
QaR, 2RUAIRG ALIRS), AL

C) 6aqoe, 9@l 206-Ageim, go-69ean, adql, @A 9Q
2RI GRS, 2AUAITT TRRS!

D) a@ql, 6aqes, 2E6-AgaIn, gu-60aaar, @K @8 2.
Q33! AR ALIRG!, FLR

28) Read the following statements and choose the
CORRECT option.

(i) Institutions, which would like to make an improvement
in the accredited status, may apply for Re-assessment,
after a minimum of one year and before three years of
accreditation subject to the fulfiment of other conditions
specified by NAAC from time to time for the purpose.

(i) NAAC will not undertake the accreditation of off-shore
campuses for Universities.

A) (i) is FALSE and (i) is TRUE
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is FALSE

28) G6ClIR QIR 9ES 99 1e° Oq GaF Q183!

(i) 699, AGARFFR QIS 3T6Q KT QI9IR, 62716R AFL
aA966 IRd 01 HFIES AR AQGE] GO¢ *ReI A6
APEAINRR AIGE] IR J6Q 1e° 5Red gIQ gR8 JRIIee
IR 26IRE FRARES

(i) 9q-04d G4 FIRA TIQ FETH6R 2 RN FOR FFIES
2AGEFIRE g28 FRAIGS 1L

A) (i) aee (i) Ok
B) ()0R we° (i) O]
C) (e 9a° (i)ga
D) ()0 e° (i) is gm

Techofworld.In

(
(
(
(



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

29) For a slow learner which one of the following
strategies is best for learning?

A) Learning according to a learner's pace will be
excellent

B) A slow leamer should work hard so that it results in
better learning

C) Learner can go for additional tution

D) Prescriptive/ remedial teaching Te C h O

29) 966 2171 FQIgH AR FIRYE AUQ 6906 ASCHI QAR ?

A) dg1ei1e 61F PIgaI S8 § QI 629

B) a6& 21911 dR1el1 @09 08N @691 @8R AT TRER 12| R
dig¢ 93 @QaIRe

C) darei 2662 §adr IR AIRAIREe

D) 219e°die/ 9oQIacae a6

30) During vedic period, students studied close to their
teachers in their school called

A) homestay
B) universities
C) gurukuls
D) hostels

30) 650 Yoea FIFRIFIFIER 6ACInE daae 90 5Te QI6Q
UAR PR FMIRAQ K8 QRIAN ?

A) gieay
B) d98auIRg

C) 9eae
D) aigiei
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Section 5 - Paperll-Odia Language

31) ‘ARIS 6RYS PROR 218 @8 ?

Techofworld.In

A) 9@igsl

C

)

B) @uey emdl
) 2198 @&
)

D) qaie 6ol

32) ‘2l QA QRGN A F'El ?

A) qual qeall

)
B) gilcyea & axiael
C) grueie 2l

)

D) ziqe afal

33) MDA SR Sie AfE AGEIER | SR 998g 6aa
d9Q6d QIR FRAUIRE ?

A) Geaay

B) §al Qloq Geaay

)

)

C) zaaidal Gal
D) ol Fca84

34) FARGE 609 985 ‘gad 2eue Fial 606 ?

35)'684Q ' - 921 @ 910 G689Y § Yo ?

A) GiA Qo
B) g8 qlea
C) age gy
D) @g QIo@

36) ' 965 ' 999 990 goya 228 599 @4 |

A) 60 9% Q QKK @68

)
B) 96 qi&
C) 64 69669 QIFIRER
)

D) aige°4

37) QR 99 ' AP0’ 6 8GR 94 629 ?

A) 2iIea@

)

B) seaf

C) 2ed
)

D) aiga

38) 699 IQ AIFER 671D FIQ FaR 2T QRIVEY, FIAIQ A4
Qelarg ?

39) ‘Ficg’ — 4G 606 §a3 6QIse G100 ?

>

C) gaq

) @
B) Go1au
)
D)

31190

40) FIAYS AIQ 699 AT TG 60 MRS I QIE ?

@ >
9 19
LD D)

O

)
)
)
)

[
=)

O
=3I
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41) 9116 Q186 gE 96T | 698lIEe 496 @ gRIa F6IT8 QR

~ Techofworld.In

A) 391 QI9Q
B) Gesaigan
C) aQ afie
D) aq® QIoe

42) GIRYS AUQ 6°9F CAITAT dRa ATYSRIGT 8Q Q6L ?

A) aeq1
B) oGa1
C) asquaa
D) ga@e

43) 2991 4R ' AYFAR' Q B2 IR RE 629 ?

A) 232
B) auiga
C) ag@da
D) ¢iGa

44) GRS FUQ 60R0 ‘AVQ’ IR6 FAVIR SR ?

A) B8Q
B) Gaw
C) daga
D) 28a

45) FARYO FIIQ 69Q6 AR F90 ATIAQIST 88 ?

vae Techofworld.In

B) ag4
C) zeat
D) @&a
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Section 6 - Paperll-Mathematics

46) If each of the interior angle of a regular polygon is 60°,
then how many sides will be there in that polygon?

2* Techofworld.In
¢)3
D) 2

46) IS R ALY ARGIR 0 6LUR 2IBA 6@18 60° F6T, 6369
aRCq 6 6a50IG QIg A@Q?

A) 5
B) 4
C)3
D) 2

47) The profit shared by Ananth, Banu and Chirag in a
business are Rs. x, Rs. y and Rs. z respectively. If x and

y are less than z by 30% and 37% respectively. How much
percent is y less than x?

A) 10%
B) 5%

C) 20%
D) 15%

47) 6915 QPR AR, 97 U9° TP NVR WG 62QF
LRIFEE Rs. %, Rs. y Ne° Rs. zI A8 x 99° y z0lg DRIg6e 30%
4Q° 37% @¢|l I'626m v X OIQ 6860 JG9IE @¢?

A) 10%
B) 5%

C) 20%
D) 15%

48) The age of Alex 6 years ago was half of his present
age. What will be his age after 2 years from now?

A) 12 years
B) 13 years
C) 14 years
D) 11 years

48) 6 Qd 99Q 2EAFA AAQ V1A YEFIF LA 2RI R |
QEFINQ 2 9F J6Q GIQ SOY 6969 6297

49)

J

75+ l25+ 108+J154+ ’219+\“%=

\ N

< o gz
w o ;o =

75 + |‘25+ ’105+j154+ f219+d%=
N

\

7 =9 then (2x+7) : (2y+9) =

gonz
O O ~ =

=}
_ ~] O =
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50) 9& 7 = 9, QIemem (2x+7) : (2y+9) =

> Techofworld.In

C)g:7
D)g:11

51)

s e e i
x# 0,and |0 =—=, thenx =

>

gowz
RS

e}

=
[N TN

52) At an interest rate of 6%, how much simple interest
would Rs. 12,000 eamn over 2 years?

A) Rs. 1540
B) Rs. 1560
C) Rs. 1400
D) Rs. 1440

52) 6% QI 21061, 2 9d6x 6. 12,000 60 6760 I FRQ?

A) 8. 1540
B) ©. 1560
C) ¢ 1400
D) ¢. 1440

53) What is the least number, which when divided by 12,
15, 20 and 54 leaves a remainder of 7 in each case?

A) 535
B) 504
C) 547
D) 542

53) 699 FGoF eyl 12, 15, 20 99° 54 FRIGS 626R g6HR
£UT6R QITEHY 7 9627

A) 535
B) 504
C) 547
D) 542

54) HCF of the four fractions 9/10, 11/25, 18/35, 21/40 is

A) 1/1400
B) 2/700
C) 7/10
D) 1/700

54) QI6QIT @918l 9/10, 11/25, 18/35, 21/40 @ 6.4L¢). 6298

A) 1/1400
B) 2/700
C) 7/10
D) 1/700

55) Two sides of a triangle are 7 cm and 13 cm
repectively. If the perimeter is 27cm, then the third side is
equal to

a1 €Chofworld.In

B) 8 cm
C)7cm
D) 10 cm
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55) 9@ 599 Q 9@F 912 97148 7 6QF1 6 13 644 2601 0@ a8y 57) 45 6461 2R 8 250 64F1 @99l 291 AICITRCAGR 6FSTR

27626 ZI6%, 6569 @@m Qg QAE AAIG 2U6T| 6Q6R7

A) 0 6af T h f |d | A) 11500 99 64f
i ecnorworida.in e

B) 8 6afi B) 11250 a4l 6Q8

C) 7 6aifl C) 12250 q¢l 696

D) 10 69 D) 11550 @6l 6af

56) The earnings of A and B are in the ratio 5: 6. The ratio
of their expenses is 7 : 9. B saves Rs. 3000 every month
while A saves Rs. 1000 more than B. The total earnings
and expenses of each of them are

58) If a student multiplied a number by 3/5 instead of 5/3,
what is the percentage of error in his calculation?

A) 68%
B) 24%
A) A-Rs. 28,000 and Rs. 21,000, B - Rs. 30,000 and Rs. St
25,000 ) 48%
B) A - Rs. 35,000 and Rs. 19,000, B - Rs 20,000 and D) 64%
Rs.17.000
C) A-Rs. 25,000 and Rs.15,000, B - Rs. 30,000 and Rs.
21,000 58) 9G 966 BI8 691G AW 3/5 QERER 5/369 YA V64,
D) A - Rs. 25,000 and Rs. 21,000, B - Rs. 30,000 and 6669 OI'a JERIER GEQ YOHIE 69667
Rs. 27.000
A) 68%
B) 24%
56) A 9Q° B &'Q 6199 2gdie 5:6] 6479w QYL adqaie C) 48%
7:91Rs Q1d@ B. Rs A BO@ Qi 9wl 696% 3000, 2ye 1000 D) 64%

ABC FEQ 6ATRTR AFYQIG 2L I QUYL 62RE

A) A - Rs. 28,000 9e° 21,000, B - 30,000 49" 25,000 59) If A={1.2,36,810}and B = {1,2,4,6,9,12}, then AUB
1S
B) A - Rs. 35000 99° Rs. 19,000, B - Rs 20,000 9g°
Rs.17,000 A) {126}
C) A - Rs. 25,000 4&° 15,000, B - 30,000 49° 21,000 B) {1.2,3,6,8,10}
D) ) ) C){1,2,46912}
A - Rs. 25,000 ¥&° Rs. 21,000, B - Rs. 30,000 4&° Rs. D) {1.2.3.4.6.8,9.10.12)
27,000

59) Q8@ A={1236810}68B = {1, 246,912}, 6562 AUB
57) What is the area of a parallelogram, whose base is 45

cm and height is 250 cm? R
A) 11500 cm? A) {1,2,6}
B) 11250 cm? B) {1,2,3,6,8,10}
C) 12250 cm? C) (1.2.469,12)
D) 11550 cm?
D) (12346891012}

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Sl L 1%l . TSV TS (I

60) If A, B and C are the three sets, then AU(BNC) is equal
to

sanenane 1 €CHOTWOrld.IN
B) (ANB)U(ANC)
C)(AUB)U (AUC)
D) (AUB)N(AUC)

60) 9@ A, B 8 C 629828 56715 63%, 6669 AU(BNC) Q4ig

A) (ANB)NANC)

(

(AN B) UANC)
(AUB)U (AU C)
(AUB)N (AU C)

C

)
B)
)
D)
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Section 7 - Paperll-Social Science

Techofworld.In

61) Who among the following is the fourteenth President
of India?

A) Mr. Narendra Modi

B) Mr. Pranab Mukherjee
C) Mr. Ramnath Kovind
D) Mr. A.P.J. Abdul kalam

61) T6IRAIEE FUIQ &9 WS 9gad QIFAG?

A) G198 F6ag 6711

B) g19e ga1< qsiis1

C) 9198 QeI exiae

D) g1ge «1.d.69. 2Qgn @RI

62) An imaginary line that circles around the Earth dividing
it into two equal halves or hemispheres is called

A) Arctic circle

B) Tropic of Cancer
C) Tropic of Capricorn
D) Equator

62) 4@ QIEFR 9R dIgl gIQIY CTIMITER | gRIFIR QITER
Q02 960 9Ig 96 QRN

A) eaeeag
B) qacgd
C) aaegie
D) Gge cagil

63) Which of the following heavenly bodies orbits a
planet?

A) Sun

B) Satellite
C) Rocket
D) Comet

63) G672 FlQ 69Q ALIRIEIS T8 9@ gea gals @6a?

A) gy
B) aage
C) qsaq

D) yrieag

64) The first Red Fort trials began during which of the
following years?

64) 56719 1@ 689 @8 TN ANPR TOIQ ZIRE 62RI?

A
B

) 1934
) 1939
C) 1947
D) 1945

65) As per the India State of Forest Report (ISFR) 2017,

which of the following states of India has the largest forest
cover in terms of area?

A) Uttar Pradesh
B) Tamil Nadu

C) Kerala

D) Madhya Pradesh

65) QUAS1A YI6edR Q€Y A6I6 2017 ( 2NIQIT 2IQ)
AT, FINYS ARKISET TR CAZTR
2gAI6Q, 679 QAUFYER AR AQEUIER Q28 ?

A) e 96949
B) cifingig

)
)

C) coaw
)

D) a2l gead
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66) Who among the following kings constructed the
famous Grand Trunk Road?

A) Akbar

B) Sher Shah Suri
C) Humayun

D) Jahangir

66) FeqIRAIGT AUQ @4 Qe 919 OF 61 Felld aR2eR?

A) aieeq
B) saasie g
C) gaige
D) qiaiga

67) Which of the following types of rainfall occurs when

the saturated air mass encounters a mountain and the air
is forced to rise?

A) Frontal rainfall

B) Cyclonic rainfall

C) Convectional rainfall
D) Orographic rainfall

67) 9849 Q9Q 2SI FIg A9Q AL AR 8 FRYFNIES AT

24, 62T a0gfea FIRYS F12Q 689 geIea 98aIe eixel
?

A) adeee 98aie

B) cicieel g8aie

C) caegiee 93ae
D) c86wia 6310 9841

68) Which among the following forms of Government exist
in India?

A) Parliamentary
B) Dictatorial

C) Military

D) Presidential

Techofworld.In

68) QIQGER F6F)IS F1IQ ARG 6QF MY OTE?

A) arawia

B) 4agg
C) arde
D) ailgada

69) Which of the following Government of India Acts had
major influence on drafting the Indian Constitution?

A) Government of India Act, 1938
B) Government of India Act, 1940
C) Government of India Act, 1935
D) Government of India Act, 1930

69) G6rlIB U 674 SRderd 2T 2d2l 2IQA VISR ARUIS
Qa6ae 9266 gaagd gaie e@amr

A
B
E
D

) 1938
) 1940
) 1935
) 1930

70) Whose resolution of 1870 advocated decentralization
of power and formation of municipal government?

A) Lord Mayo
B) Lord Neil

C) Lord Michael
D) Lord Rippon

70) eroo ¢d96a QLR gL G FRGFAE 96°
FERAIRD AARIA FOFQ ISR ARI?

A) Q@ f1sgl

C) ae aIReen

)
B) a¢ cam
)
D)

Qe Gae
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71) Which of the following statements is TRUE about Zero
degree latitude?

A) The slant rays of the sun falls at 0° latitude through
out the year

B) The temperature at 0° latitude is very cold

C) The temperature at 0° latitude is cold throughout the
year

D) At 0° latitude the vertical rays of the sun falls
throughout the year

71) §54 g1 2919 AYN6R FINYS ABYER IR 609 AT
Q0] 28 ges @ga ?

A) gdia elde @F Aal 9d a4 @91 281°96Q aFel
B) 9oy &g 21aIrg6Q S1aAIg) 2048 2l
C) g4 g1 28°96Q SIIAIGI Qd SFIIF ASYB 28I R6R

D) gdidee Queed @ee ARl od gay Sg1 AArEER
agelrg

72) In to how many layers can the Earth be divided based
on physical properties?

A) 2

B) 3

C)5

D) 4

72) 6150 Q4 RIAER €YUG EREEIT AR WIFS
FALIRARI?

A) 2
B) 3
C)s5
D) 4

73) Which of the following options is the earliest vedic text
that contains hymns of God?

A) Rig Veda

B) Sama Veda
C) Yajur Veda
D) Atharva Veda

73) f9Rge FrIQ 6966 AF0IQ TaIF 63GR TI0 2RI 6I96R

Techofworld.|n sesesesanasse

A) 9] 699
B) aiqi éee
C) age 69@
D) z2d 6@

74) Vande Mataram, was sung first time at the session of
the Indian National Congress held in

A) 1919
B) 1896
C) 1886
D) 1920

74) Q62 C1Iear gale 2 diel QI9S12 FIS1A @°65AR Zeade

Qe QAUIRARI 9T ZRIEITR adal 6a aAQEQ
621D |

A) 1919
B) 1896
C) 1886
D) 1920

75) The Silent Valley Hydroelectric project was called off
and the area was declared as a National Park in 1985-86.

This project is related to which of the following states of
India?

A) Arunachal Pradesh
B) Karnataka

C) Kerala

D) Himachal Pradesh

75) §2% QUL 9F FQIT I98 QTN AACLIR Y 6 98§
199 1985-86 (132160 FISTH AR QIR 62ISEI KRUETIR
gml. 4§ gRT VIA0R 699 IRy AT IS 26T ?

A) 2081907 gsa4l
B) qdice

C) eaanm

D) @aieq g6ad

Techofworld.In



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Section 8 - Paperll-Science
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76) The digestion of food in the body is an example of
which of the following types of reaction?

A) Displacement reaction

B) Combination reaction

C) Decomposition reaction

D) Double displacement reaction

76) €Q106Q HINQ AR 62RE FINUQ 608 U0 9ETAR
@ @QIEE?

A) Gaiae g&Fel

B) asaiee goqal
C) zaqee geaal

D) 63 Qaiae goqa

77) Two bodies X and Y have masses 20 kg and 5 kg
respectively. Each one is acted upon by a force of 4 kg wt.

If they acquire the same kinetic energy in times ta and ts,
then the ratio ta/ ts is

A) 1:2
B) 1.4
C)34
D) 2:1

77) X 9&° Y @@F oaidia @ge QeIged 206aF 99 5
6RF1 604 QU6Q 460F BeRa 98 9F Jeisl eaicmll 98

6QAIEE L 99° L AALER QAT ST 19 2RI 998 6969 1, /
t Q D16 6962

78) Which options among the following usually helps a
money plant to cling on a support as it grows?

A) Clasping roots

B) Stem
C) Leaves
D) Thorns

78) @6 SRagER AUQ ARIGGSS 6066 AF Q4 9E] INA6R
R Q6T A QYA AITIAY KEeIN?

A) 28 @gQI 69
B) qi9
C)a

)

D) aau

79) A specialised kind of cell division that reduces the

chromosome number by half and results in the production
of haploid daughter cells is known as

A) Mitosis
B) Fragmentation
C) Meiosis
D) Budding

79) 99 Q699 IRIAQ 6218 FQIE AL 6FISANCTIF QGiey 2RI

QTP 8 ARl IREA TIAMNIE §4 6918 7 62PN, CIRIG Q€
QRIANG?

A) deciia
B) giosreqaq
C) eaqeda
D) oGer

80) Hyperthermus butylicus is an example of which
microorganism?

e Techofworld.In

Protozoa
Archaebacteria

A
B
C
D

— e
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80) 2IR02Aa QIERGd 62a8 676 JPFIRR IR RVILAE?

A) Q1862 TeChOfWOI'|d . | n

B) aaa
C) eglesicaI2l
D) aicaquieqaal

81) In which of the following plants, the stem grows
underground with an irregular swelling known as rhizome?

A) Garlic
B) Onion
C) Ginger
D) Potato

81) GOAUQ 600 AR96R, RIY AIF 96 ARATS IRl AT
QRN QIRI] QIRERIF GRIAN?

82) 2H2(g) + O2(g) — 2H20(l)
The above reaction is an example of

A) displacement reaction

B) double displacement reaction
C) combination reaction

D) decomposition reaction

82) 2H.(g) + O(g) — 2H.O()
QUCAI YOG FIDIQ VFILAE?

A) Qe 9EFal

B) 6% SRI0s 95qal
C) areaies gogal
D) ziaqce gogal

83) A bullet of mass M hits a block of mass M'. The
transfer of energy is maximum, when

A)M=M
ByM'=2M
C)M>>M
D)yM <<M

83) M @gQ 298 9@ gf M’ @gq Q58 1@ 9QKiq 2IRIe 6aRI1
426 QRN ASRIW 629, 66EER

A) M'=M
B) M"=2M
C) M >>M
D) M'<< M

84) Blood is flowing at the rate of 200 cm?® s™'in a capillary

of cross sectional area 0.5 m?. The velocity of flow in mm/s
is

A) 0.4
B) 0.3
C) 0.1
D) 0.2

84) 0.5 m: A9Yd G948 9@ 689a6a a2 200 627 5 FIAER
JQITe 626081 MM/S6Q JRIER AERT 62T

A) 0.4
B) 0.3
C)oa
D)o.2

85) A piece of ice (heat capacity = 2100 Jkg™' °C™" and
latent heat = 3.36 x 10° J/kg) of mass m grams is at -5 °C
at atmospheric pressure. It is given 420 J of heat so that
the ice starts melting. Finally when the ice-water mixture
is in equilibrium, it is found that 1 g of ice has melted.

Assuming there is no other heat exchange in the process,
the value of m is

A) 10
0 Techofworld.In
D)6
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85) 0RaId@ 9106a -5 °6a§6gQ@ S1U6Q MyIa 98] G948 9@
QR ¢4 (Q1Q BFIGI= 2100 Jkg: °62869g 9e° Q9 ©19 =3.36
x 10 J/kg) @@F | ¥21q 0eFIaSl QIR 420 J 9F geLs
QRUINI 6IT6R 6UEPER6R FAT- F@ T84 ARG 62l
66066 6aFITRI 1 9K 9T Gaaa | F6aaag Y€ 9aaiea
2R 69169 010 9aR 6LIRRIE, 6969 MA FRY 6208

v Techofworld.In

C)s
D)6

86) Free fall of an object (in vacuum) is a case of motion
with

A) zero acceleration

B) uniform acceleration
C) infinite acceleration
D) variable acceleration

86) (§RUSIER) 691G 9g I8 QIER AGAYSR FIL| JoQ e
Q91247

A) g5y Qa8

B) yega Qoe

C) aan qa4

D) 0Geandis Qe

87) The surface temperature of the stars is determined
using

A) Wein displacement law
B) Kirchhoff's law

C) Rayleigh-Jeans law

D) Lenz's law

87) CIRRIFIREe J/ LIdIG @'d QY9LIR @R 3a aauard

A) 63% G109 Gan
B) Geciae fae
C) sasma-ag foa
D) eq&a Gog

B s nans

88) What does algae use to collect photosynthetically
active light during the process of photosynthesis?

A) Ribosomes

)
B) Chlorophyll a
C) Mitochondria
D) Centriole

88) ZIREE AR A°6HVE JTA AILER K MRLIG KA
2Isaie Iegfo AFS ANa YL K& |

A) QIRERIESIA

)

B) sqiequda g
C) aipseiedql
D) cagam

89) Which among the following options is NOT a
component of plasma membrane of a cell?

A) Proteins
B) Carbohydrates
C) Vitamins
D) Lipids

89) FAFIQ 674 TRE YR 6RIFQ YRAI ERIR 9@ QAR §6L?

A) sgiga
B) cldIgmsgs
C) Geidie
D)

ED)]

“Techofworld-In

90) Terramycin drug is an antibiotic obtained from which
of the following microorganisms?

A) Streptomyces Fradiae

B) Streptomyces Aureofaciens
C) Streptomyces Venezulae
D) Streptomyces Ramosus
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90) 69QUAIRJR G4 6268 @ AFACAUTR ALY FIAIQ 609
QRN Ol ARN? T h f |d |
A) 6ad010dQ 696 :
B) 6aq¢10da 2QBcrides

C) 6a10da cusagn
D) 6801029 queead
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